

DISTRICT 5 16165J NON-FEDERAL

PROJECT: DISTRICT 5

STATE PROJECT NUMBER: 16165J

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN:

February 23, 2021,

SCOPE OF WORK:

Resurfacing various tier 2, 3, and 4 roadways in District 5.

COMPLETION DATE:

September 24, 2021

LOCATION:

Merrimack, Hillsborough, Rockingham

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

Amount:

Award Date:

\$3,696,537.61

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$3,696,537.61	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
CONTINENTAL PAVING INC	\$3,933,837.54	В
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		
BROX INDUSTRIES, INC.	\$4,637,059.42	С
1471 METHUEN STREET, DRACUT MA 01826		



DISTRICT 5 16165J NON-FEDERAL

					F	PS&E	3 EASTGAT	JSTRIES, INC. TE PARK ROAD IT, NH 03220	1 CONTINE	AL PAVING INC ENTAL DRIVE RRY, NH 03053
Item N	о.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

206.1	COMMON STRUCTURE EXCAVATION	CY	20.60	\$300.00	\$6,180.00	\$500.00	\$10,300.00	\$500.00	\$10,300.00
304.301	CRUSHED GRAVEL	CY	.50	\$800.00	\$400.00	\$1,000.00	\$500.00	\$500.00	\$250.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,933.20	\$25.00	\$123,330.00	\$27.00	\$133,196.40	\$22.00	\$108,530.40
403.11023	HBP-BINDER, MM	TON	2,282.50	\$65.00	\$148,362.50	\$69.00	\$157,492.50	\$72.00	\$164,340.00
403.11042	HBP-1/2" WEARING, MM, QC/QA TIER 2	TON	4,676.70	\$80.00	\$374,136.00	\$70.00	\$327,369.00	\$72.00	\$336,722.40
403.11052	HBP-3/8" WEARING, MM, QC/QA TIER 2	TON	4,166.60	\$70.00	\$291,662.00	\$70.00	\$291,662.00	\$72.00	\$299,995.20
403.11942	HBP-1/2" WEARING, MM, HIGH STRENGTH, QC/QA TIER 2	TON	2,216.50	\$75.00	\$166,237.50	\$72.00	\$159,588.00	\$82.00	\$181,753.00
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	4,075.10	\$85.00	\$346,383.50	\$72.00	\$293,407.20	\$82.00	\$334,158.20
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	32.10	\$85.00	\$2,728.50	\$100.00	\$3,210.00	\$82.00	\$2,632.20
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	83.30	\$150.00	\$12,495.00	\$150.00	\$12,495.00	\$130.00	\$10,829.00
403.16	PAVEMENT JOINT ADHESIVE	LF	105,442.90	\$0.50	\$52,721.45	\$0.23	\$24,251.87	\$0.23	\$24,251.87
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,810.40	\$2.75	\$32,478.60	\$2.25	\$26,573.40	\$2.00	\$23,620.80
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	21,164.60	\$3.50	\$74,076.10	\$3.60	\$76,192.56	\$3.50	\$74,076.10
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,083.80	\$65.00	\$135,447.00	\$70.00	\$145,866.00	\$76.00	\$158,368.80
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	15,746.80	\$78.00	\$1,228,250.40	\$70.00	\$1,102,276.00	\$74.00	\$1,165,263.20
417.	COLD PLANING BITUMINOUS SURFACES	SY	87,905.90	\$3.00	\$263,717.70	\$2.00	\$175,811.80	\$2.00	\$175,811.80
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	7,456.30	\$5.00	\$37,281.50	\$2.00	\$14,912.60	\$2.00	\$14,912.60
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	72.00	\$130.00	\$9,360.00	\$140.00	\$10,080.00	\$138.75	\$9,990.00
604.0007	POLYETHYLENE LINER	EA	55.00	\$150.00	\$8,250.00	\$125.00	\$6,875.00	\$150.00	\$8,250.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	40.00	\$450.00	\$18,000.00	\$400.00	\$16,000.00	\$400.00	\$16,000.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	10.00	\$500.00	\$5,000.00	\$400.00	\$4,000.00	\$450.00	\$4,500.00
604.72	GRATES & FRAMES, TYPE B	EA	14.00	\$600.00	\$8,400.00	\$650.00	\$9,100.00	\$550.00	\$7,700.00
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$850.00	\$850.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
608.2401	4" CONCRETE SIDEWALK	SY	171.60	\$75.00	\$12,870.00	\$90.00	\$15,444.00	\$75.00	\$12,870.00

Friday, February 26, 2021



				PS&E		3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	1 CONTIN	TAL PAVING INC IENTAL DRIVE ERRY, NH 03053
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	33.40	\$475.00	\$15,865.00	\$450.00	\$15,030.00	\$500.00	\$16,700.00
609.5	RESET GRANITE CURB	LF	275.10	\$40.00	\$11,004.00	\$50.00	\$13,755.00	\$45.00	\$12,379.50
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	24.00	\$1,500.00	\$36,000.00	\$1,500.00	\$36,000.00	\$950.00	\$22,800.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	25,400.00	\$1.00	\$25,400.00	\$1.00	\$25,400.00	\$1.00	\$25,400.00
618.7	FLAGGERS	HR	3,120.00	\$38.00	\$118,560.00	\$35.00	\$109,200.00	\$40.00	\$124,800.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$160,000.00	\$160,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,000.00	\$12,000.00	\$1,500.00	\$6,000.00	\$4,000.00	\$16,000.00
628.1	SAWED CONCRETE PAVEMENT	LF	133.00	\$5.50	\$731.50	\$15.00	\$1,995.00	\$15.00	\$1,995.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	466.60	\$3.50	\$1,633.10	\$10.00	\$4,666.00	\$10.00	\$4,666.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,405,213.00	\$0.15	\$210,781.95	\$0.16	\$224,834.08	\$0.19	\$266,990.47
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	5,784.00	\$0.20	\$1,156.80	\$0.25	\$1,446.00	\$0.25	\$1,446.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	1,174.00	\$3.00	\$3,522.00	\$0.80	\$939.20	\$2.00	\$2,348.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	214.00	\$4.50	\$963.00	\$3.75	\$802.50	\$10.00	\$2,140.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,174.00	\$1.25	\$1,467.50	\$2.00	\$2,348.00	\$2.00	\$2,348.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	210.00	\$2.10	\$441.00	\$2.50	\$525.00	\$2.50	\$525.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	241.00	\$2.15	\$518.15	\$4.00	\$964.00	\$4.00	\$964.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	1,317.00	\$3.70	\$4,872.90	\$5.00	\$6,585.00	\$5.00	\$6,585.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	165.00	\$5.50	\$907.50	\$8.00	\$1,320.00	\$8.00	\$1,320.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	49.00	\$5.50	\$269.50	\$12.00	\$588.00	\$12.00	\$588.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	616.00	\$9.00	\$5,544.00	\$10.00	\$6,160.00	\$10.00	\$6,160.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,253.00	\$1.25	\$1,566.25	\$1.00	\$1,253.00	\$1.00	\$1,253.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	13.00	\$4.50	\$58.50	\$30.00	\$390.00	\$4.00	\$52.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	360.00	\$3.00	\$1,080.00	\$5.00	\$1,800.00	\$4.00	\$1,440.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	22.10	\$55.00	\$1,215.50	\$15.00	\$331.50	\$100.00	\$2,210.00
692.	MOBILIZATION	U	1.00	\$94,526.00	\$94,526.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00

New Hampshive Department of Transportation

ABC Bid Data

					PS&E		PS&E PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		1 CONTIN	TAL PAVING INC IENTAL DRIVE ERRY, NH 03053
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	41,602.00	\$1.00	\$41,602.00	\$1.00	\$41,602.00	\$1.00	\$41,602.00	
			Totals:		\$4,210,303.90		\$3,696,537.61		\$3,933,837.54	
			Alt. Totals:							
			Totals:		\$4,210,303.90		\$3,696,537.61	6,537.61 \$3,933,83		



DISTRICT 5 16165J NON-FEDERAL

					F	PS&E	1471 MET	USTRIES, INC. HUEN STREET T, MA 01826		
Item	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

206.1	COMMON STRUCTURE EXCAVATION	CY	20.60	\$300.00	\$6,180.00	\$525.00	\$10,815.00	
304.301	CRUSHED GRAVEL	CY	.50	\$800.00	\$400.00	\$525.00	\$262.50	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,933.20	\$25.00	\$123,330.00	\$30.00	\$147,996.00	
403.11023	HBP-BINDER, MM	TON	2,282.50	\$65.00	\$148,362.50	\$81.00	\$184,882.50	
403.11042	HBP-1/2" WEARING, MM, QC/QA TIER 2	TON	4,676.70	\$80.00	\$374,136.00	\$81.00	\$378,812.70	
403.11052	HBP-3/8" WEARING, MM, QC/QA TIER 2	TON	4,166.60	\$70.00	\$291,662.00	\$81.00	\$337,494.60	
403.11942	HBP-1/2" WEARING, MM, HIGH STRENGTH, QC/QA TIER 2	TON	2,216.50	\$75.00	\$166,237.50	\$85.00	\$188,402.50	
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	4,075.10	\$85.00	\$346,383.50	\$85.00	\$346,383.50	
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	32.10	\$85.00	\$2,728.50	\$210.00	\$6,741.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	83.30	\$150.00	\$12,495.00	\$210.00	\$17,493.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	105,442.90	\$0.50	\$52,721.45	\$0.30	\$31,632.87	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,810.40	\$2.75	\$32,478.60	\$3.50	\$41,336.40	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	21,164.60	\$3.50	\$74,076.10	\$5.00	\$105,823.00	
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,083.80	\$65.00	\$135,447.00	\$85.00	\$177,123.00	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	15,746.80	\$78.00	\$1,228,250.40	\$80.00	\$1,259,744.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	87,905.90	\$3.00	\$263,717.70	\$4.00	\$351,623.60	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	7,456.30	\$5.00	\$37,281.50	\$5.00	\$37,281.50	
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	72.00	\$130.00	\$9,360.00	\$150.00	\$10,800.00	
604.0007	POLYETHYLENE LINER	EA	55.00	\$150.00	\$8,250.00	\$125.00	\$6,875.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	40.00	\$450.00	\$18,000.00	\$300.00	\$12,000.00	
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	10.00	\$500.00	\$5,000.00	\$300.00	\$3,000.00	
604.72	GRATES & FRAMES, TYPE B	EA	14.00	\$600.00	\$8,400.00	\$575.00	\$8,050.00	
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$850.00	\$850.00	\$875.00	\$875.00	
608.2401	4" CONCRETE SIDEWALK	SY	171.60	\$75.00	\$12,870.00	\$80.00	\$13,728.00	

Friday, February 26, 2021



				PS&E		1471 MET	DUSTRIES, INC. HUEN STREET IT, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	33.40	\$475.00	\$15,865.00	\$450.00	\$15,030.00		
609.5	RESET GRANITE CURB	LF	275.10	\$40.00	\$11,004.00	\$50.00	\$13,755.00		
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	24.00	\$1,500.00	\$36,000.00	\$950.00	\$22,800.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	25,400.00	\$1.00	\$25,400.00	\$1.00	\$25,400.00		
618.7	FLAGGERS	HR	3,120.00	\$38.00	\$118,560.00	\$38.00	\$118,560.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$160,000.00	\$160,000.00	\$200,000.00	\$200,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,000.00	\$12,000.00	\$4,000.00	\$16,000.00		
628.1	SAWED CONCRETE PAVEMENT	LF	133.00	\$5.50	\$731.50	\$10.00	\$1,330.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	466.60	\$3.50	\$1,633.10	\$5.00	\$2,333.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,405,213.00	\$0.15	\$210,781.95	\$0.20	\$281,042.60		
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	5,784.00	\$0.20	\$1,156.80	\$0.25	\$1,446.00		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	1,174.00	\$3.00	\$3,522.00	\$0.75	\$880.50		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	214.00	\$4.50	\$963.00	\$3.00	\$642.00		
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,174.00	\$1.25	\$1,467.50	\$0.70	\$821.80		
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	210.00	\$2.10	\$441.00	\$1.35	\$283.50		
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	241.00	\$2.15	\$518.15	\$2.00	\$482.00		
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	1,317.00	\$3.70	\$4,872.90	\$4.30	\$5,663.10		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	165.00	\$5.50	\$907.50	\$8.00	\$1,320.00		
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	49.00	\$5.50	\$269.50	\$10.00	\$490.00		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	616.00	\$9.00	\$5,544.00	\$9.00	\$5,544.00		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,253.00	\$1.25	\$1,566.25	\$1.00	\$1,253.00		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	13.00	\$4.50	\$58.50	\$1.75	\$22.75		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	360.00	\$3.00	\$1,080.00	\$1.75	\$630.00		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	22.10	\$55.00	\$1,215.50	\$25.00	\$552.50		
692.	MOBILIZATION	U	1.00	\$94,526.00	\$94,526.00	\$100,000.00	\$100,000.00		

New Hampshire Department of Transportation

ABC Bid Data

				PS&E		PS&E		BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826		1471 METHUEN STREET			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total				
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00						
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00						
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00						
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	41,602.00	\$1.00	\$41,602.00	\$1.00	\$41,602.00						
		Totals:			\$4,210,303.90		\$4,637,059.42						
		Alt. Totals:											
			Totals:		\$4,210,303.90		\$4,637,059.42						



DISTRICT 5 16165J NON-FEDERAL

				A-Bide	der	PS8	RE.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	20.60	\$500.00	\$10,300.00	\$300.00	\$6,180.00	\$4,120.00
304.301	CRUSHED GRAVEL	CY	.50	\$1,000.00	\$500.00	\$800.00	\$400.00	\$100.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,933.20	\$27.00	\$133,196.40	\$25.00	\$123,330.00	\$9,866.40
403.11023	HBP-BINDER, MM	TON	2,282.50	\$69.00	\$157,492.50	\$65.00	\$148,362.50	\$9,130.00
403.11042	HBP-1/2" WEARING, MM, QC/QA TIER 2	TON	4,676.70	\$70.00	\$327,369.00	\$80.00	\$374,136.00	(\$46,767.00)
403.11052	HBP-3/8" WEARING, MM, QC/QA TIER 2	TON	4,166.60	\$70.00	\$291,662.00	\$70.00	\$291,662.00	\$0.00
403.11942	HBP-1/2" WEARING, MM, HIGH STRENGTH, QC/QA TIER 2	TON	2,216.50	\$72.00	\$159,588.00	\$75.00	\$166,237.50	(\$6,649.50)
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	4,075.10	\$72.00	\$293,407.20	\$85.00	\$346,383.50	(\$52,976.30)
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	32.10	\$100.00	\$3,210.00	\$85.00	\$2,728.50	\$481.50
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	83.30	\$150.00	\$12,495.00	\$150.00	\$12,495.00	\$0.00
403.16	PAVEMENT JOINT ADHESIVE	LF	105,442.90	\$0.23	\$24,251.87	\$0.50	\$52,721.45	(\$28,469.58)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,810.40	\$2.25	\$26,573.40	\$2.75	\$32,478.60	(\$5,905.20)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	21,164.60	\$3.60	\$76,192.56	\$3.50	\$74,076.10	\$2,116.46
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,083.80	\$70.00	\$145,866.00	\$65.00	\$135,447.00	\$10,419.00

Friday, February 26, 2021 Page 8 of 11



DISTRICT 5 16165J NON-FEDERAL

		ı	•	A-Bid	der	PS8	ξE.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	15,746.80	\$70.00	\$1,102,276.00	\$78.00	\$1,228,250.40	(\$125,974.40)
417.	COLD PLANING BITUMINOUS SURFACES	SY	87,905.90	\$2.00	\$175,811.80	\$3.00	\$263,717.70	(\$87,905.90)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	7,456.30	\$2.00	\$14,912.60	\$5.00	\$37,281.50	(\$22,368.90)
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	72.00	\$140.00	\$10,080.00	\$130.00	\$9,360.00	\$720.00
604.0007	POLYETHYLENE LINER	EA	55.00	\$125.00	\$6,875.00	\$150.00	\$8,250.00	(\$1,375.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	40.00	\$400.00	\$16,000.00	\$450.00	\$18,000.00	(\$2,000.00)
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	10.00	\$400.00	\$4,000.00	\$500.00	\$5,000.00	(\$1,000.00)
604.72	GRATES & FRAMES, TYPE B	EA	14.00	\$650.00	\$9,100.00	\$600.00	\$8,400.00	\$700.00
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$150.00
608.2401	4" CONCRETE SIDEWALK	SY	171.60	\$90.00	\$15,444.00	\$75.00	\$12,870.00	\$2,574.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	33.40	\$450.00	\$15,030.00	\$475.00	\$15,865.00	(\$835.00)
609.5	RESET GRANITE CURB	LF	275.10	\$50.00	\$13,755.00	\$40.00	\$11,004.00	\$2,751.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	24.00	\$1,500.00	\$36,000.00	\$1,500.00	\$36,000.00	\$0.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	25,400.00	\$1.00	\$25,400.00	\$1.00	\$25,400.00	\$0.00
618.7	FLAGGERS	HR	3,120.00	\$35.00	\$109,200.00	\$38.00	\$118,560.00	(\$9,360.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$160,000.00	\$160,000.00	(\$135,000.00)

Friday, February 26, 2021 Page 9 of 11



DISTRICT 5 16165J NON-FEDERAL

				A-Bidd	der	PS8	RE .	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$1,500.00	\$6,000.00	\$3,000.00	\$12,000.00	(\$6,000.00)
628.1	SAWED CONCRETE PAVEMENT	LF	133.00	\$15.00	\$1,995.00	\$5.50	\$731.50	\$1,263.50
628.2	SAWED BITUMINOUS PAVEMENT	LF	466.60	\$10.00	\$4,666.00	\$3.50	\$1,633.10	\$3,032.90
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,405,213.00	\$0.16	\$224,834.08	\$0.15	\$210,781.95	\$14,052.13
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	5,784.00	\$0.25	\$1,446.00	\$0.20	\$1,156.80	\$289.20
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	-'	1,174.00	\$0.80	\$939.20	\$3.00	\$3,522.00	(\$2,582.80)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	214.00	\$3.75	\$802.50	\$4.50	\$963.00	(\$160.50)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,174.00	\$2.00	\$2,348.00	\$1.25	\$1,467.50	\$880.50
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	210.00	\$2.50	\$525.00	\$2.10	\$441.00	\$84.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	241.00	\$4.00	\$964.00	\$2.15	\$518.15	\$445.85
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	1,317.00	\$5.00	\$6,585.00	\$3.70	\$4,872.90	\$1,712.10
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	165.00	\$8.00	\$1,320.00	\$5.50	\$907.50	\$412.50
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	49.00	\$12.00	\$588.00	\$5.50	\$269.50	\$318.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	616.00	\$10.00	\$6,160.00	\$9.00	\$5,544.00	\$616.00

Friday, February 26, 2021 Page 10 of 11



DISTRICT 5 16165J NON-FEDERAL

Item No.	Description	Unit	Quantity	A-Bidder		PS&E		
				Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,253.00	\$1.00	\$1,253.00	\$1.25	\$1,566.25	(\$313.25)
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	13.00	\$30.00	\$390.00	\$4.50	\$58.50	\$331.50
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	360.00	\$5.00	\$1,800.00	\$3.00	\$1,080.00	\$720.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	22.10	\$15.00	\$331.50	\$55.00	\$1,215.50	(\$884.00)
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$94,526.00	\$94,526.00	(\$44,526.00)
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	41,602.00	\$1.00	\$41,602.00	\$1.00	\$41,602.00	\$0.00

Total: \$3,696,537.61 \$4,210,303.90 (\$513,766.29)

Friday, February 26, 2021 Page 11 of 11